SWITCH PROBLEM INPUT DISPLAY
) 0.
E Set currency rate=12 [B]E3) 12.
€ 12
F Exchange 4235() =" (€ ) O@2EGE 4235,
3 € 352.92
F Exchange 4567(<€ )= () @O 4567.
& 54804.00
(o 0.
F Currency rate review EENE) 2 12.
() 0.
2+6-7= @HEE®E 1.
5/4A 0.02+0.03-0.01= @HEEOE 0.04
44 —2.7X9+7= @OOEXE®E@E -3.4715
13 4 x(5+6)+3= EHEX®EEEE 14.666
E 2+3= 2E@EEE 0.66666666666
E BACKSPACE 0.66666666
+0 2.2+3= 2O00HE® 5.
4.6+3= @LOEE 7.
5/42 2.465-5.73= 2O0E@EEEEOLOE® -3.27
9.7-5.73= 0000 3.97
tA 2.7x1.26= @OOXxOO@EE) 3.41
2.7x3.27= AO0E 8.83
5/44 7+6= DEEE 1.1667
8+6= @E 1.3333
F 2+3+3= @AEEEE 8.
6-2-2= OEO@EE 2
2’= @2XEE 8.
1+5+5= EHEE 0.04
F 20 x 25%= 2O0X@2E® 5.
5+20%= EE@00® 25.
20x(1+15% )= @OHOE® 23.
20x(1-20% )= 2OE@O®% 16.
F 100 +(1-20% )= OOOE@OM) 125.
100 +( 1- 20% )-100= OOO®@OMIM) 25.
F 2x3=6 @XE)M) M 6.
-) 3x4=12 BEX@®HMm) M 12.
+) 4x5=20 BOXE® M 20.
14 M 14.

14.



